
(y-k)2  = 4a(x-h)

jn (h, k) “no (-1, 2) tl'¶JfdkJ

(~-2)~ = 4a(x+ 1)

LW5lthmbhqA  (3,4) 6&d

(4-2)2  = 4a(3+1)

4  =  4a(4)

1a=  -
4

nunlswl~iS~a7?io  (~-2)~  = 4($)(x+1)

(y-2)2 = x+1

wia  y2--y-x+3  =  0

Ql~tW~l5 ,(y-k)2  = 4a(x-h)

ItaL  (x-h)2  = 4a(y-k)

~ii~*s=OlU%XOU:ald~nlasJ"l~Rla"ane~o=1X

y2-2ky-4ax+(k’+4ak)  =  0

ita: x2-2hx-4ay+(h2+4ak)  =.  0
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w~Q6BfJuau~nl~3~dba
y2+Ay+Bx+C  =  0

LLtl’: x’+Dx+Ey+F  =  0
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(Y+v (x-2T  _ 0__-
9 16

(y+5)2 = $(x-2)1

y+5 = 55-2)

tl¶J~l&h%J+iO 4y-3x+26 = 0 uar

3x+4y-t14 = 0

%dNd”2.41 ~~“a6fW~tYU~l9  16x2-9y’-32x-54y-209 =  0

"a%1 o"nac~nlg~RlnOdWa~~R~w"la~1SPan"la"9~o9arPJys~

1 6(x2 - 2x) -- 9(y2  + 6y) = 209

16(x*-2x+1)-9(y*i-6y+9)  = 209+16-81

16(~-1)~-9(y+3)’ = 144

(x;l)'  (y+3j2 - 1
16
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& (x, y) aduw"~flwas~a  P Iu-bxm  XY uaz (x’,  Y’)  Ch4Cnua79 P Iod4zmp1

x’y’ hy1mA x bbaE:llfIu y hmmJI~uypJ I9 hGhwll~waua4¶Jul3nl

@k&4 x  =  O M  =  O P  cos(8+a) . . . . . . . . . . (2.16)

y  =  M P  = O P  sin@+a)

bias  x’ =  O M ’  =  OPcosa

y’ = M’P = OP sin n . . . . . . . . ..(2.17)

IIIlMFil  cos(O+a)  = cm 0 cos  a-sin 19 sina

ua”, sin@+@  = sin B cos a+cos  19 sin a %u  (2.16)

3lZ:1A  x = OPcosacos&OPsinasinO

y = OP cos  a sin 8 + OP sin a cos 0
.: 24
PduFla mJf?lwll4MIpllflU  &I

x = x' costi-y'  sin8

y = x' sin Bty'  case

wia x' = x cos tfty sin 8

y’ z - x  sin B+y cos 0

. . . . . . . . . . (2.18)

1 4 8 MA 112



Y&l 3(x')'+(y')' = 6

D ’  =  Dcos8+Esine
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Qlfl sinB = -1 -cos 20
i--2

, C”S  0 _ J 1 + y5  zt

i

-
l-3/5  1sinO=  __

2
=_

v5 -

cos % = iI + 3/5  _ 2

4-r  - s-
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x = x’ cos0-y’  sin0 = ~ , \isLx! -Lyr

y =  X’ s i n  e+y’ c o s  B =  J-X(  +Lyl
v3  A

4xf2-6y~2  = 7

~01.  28 = i = 0.75

20 = 53"

2.11 Invariants and The Discriminant

Ax2+Bxy+Cy2+Dx+Ey+F  =  0 . . . . . . . . . . (2.21)

6ih4qlm4l¶J6Suyu  0 0~9n"a(alfl1~

A’x’~+B’x’~‘+C’~‘*+D’X’+E’~‘+F’  =  0 . . . . . . . . ..(2.22)

dtl  ,A’ 7 A cos2@+  B sin B cos B+C sin*9

B’ = 2(C - A) sin 0 Cos 0 + B(cos2B  - sin28)

C’ = A sin20-B  sin~0  cos  BiC cos28

~IZ%A’+JC’  =  A + C

Llti:  A ’ - C  ’ = A(cos20  - sin28)  - C(cos’0 - sin20)  + B sin 28

MT0  A’-,C’  = ( A - C )  c b s  28+B s i n  2 8 . . . . . . . . ..(i.23)

B’ = -(A-C) sin 2&B  cos 28 . . . . . . . . ..(2.24)

(2.23)2+(2.24)2;  ( A ’  -C’)2+B’2  =  (A-C)*+B2

I(A’+C’)*-4A’C’]+B’”  = [(A+C)‘-4AC]+BZ

Mi  A + C  =  A’+C’

‘kk B’2 -4A’C’ = B*-4AC

WO$A+C  163: B2-4AC  6?Ufl<l!qtiffIJU?  invariant .f?lU~~fll4TT~UllflU  ddld
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0<2e<n

w t
@lJUW cos 28 = 2

&J.JQl"  o<e< 5

Ilazoln
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s i n  e  =  -& c o s  e  =  -&

i~in  x  = X’ c o s  e-y’ s i n  e  =  J-x’  -
m

Ly’
v%

y = X’ s i n  B+y’  c0s  e  =  Lx’+--%’
di7 fi

66mJn’l  x ,  y  %waunlri~lMw~?X

~(2~'-3y')~-~(Zx'  -3y')(3x'+2y')+&(3xt  +2y')' = 30

Y
x’

Y ’l/0(/ ’C-3, 2)
fJ

*
x

$i2.68

c=vPs=m=Ji-j

bl~~~0  (0,  43, (0,  -43)

h%pn  x = X’ cos 8-y’  s i n e

y =  XI  s i n  e+yl cos e

gwJo@l6hJf%J66flP6%J  &I 66MwilX'  = 0 66cIZ  y' = v? azI$jaooAi

i
-36 2a- -
v%'v% 1
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n"aWhd2.49  W~81Sd7t=fI~f11'6x*-4xy+4y*-5x+10y-6  = 0 ~fmda&qda&j

“a%1
I w

th% A = B = C = 41, -4,

B*-4AC  = 16 -16 = 0

nsl~oloo~l~odwlzlF~~1~~~~~~~~~
944
‘JliOl  1 (x2-4xy+4y’)-5(x-2y)-6 = 0

(x-2~)~-5(x-Zy)-6 = 0

j(x-2y)-6)I(x-2~)+  I) = 0

wmkdhdMW49 2dlmmn"sd  hflldlPJ

Cot 28  = *+ = 5  = +

5y'*+5\'3y'-6  = 0

(6~’  +6)(&y’  - 1) = 0

flsld~os#u~ss  2 6th y’ = -6 Lia”  y’ = -r
43 \rs

y’ = -x sin e+y cos  0
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Y&th6 k6  = \/5  R=x+zy  NiQx-2y-6  =  0

sin e =
i

i-cos  28 =-
2 A

r-

.__
1 +CO~ 20c o s  e  =  ____ =-

2 A

x = Lpy~ x’ -2y’z-
$5

y  =  $1  +&y’ 2x’+y’=-
R

LLwwilx, y ‘hmJnl5~6lwu@4X

$x’  -2~‘)~+  $(x’-2y’)(2x’+y’)+ 32x’+y’)‘-&‘-2~‘)  = 6

5~‘~-&‘+2y’  =  6

xf2-&’ = 6-2&y'

43 I

S(X’-&)~  = 6-2dy’+ $

= zj-2\isy’

= -2q -9)
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1  =  -2x+5’

naJn1slmwl~n~  %J  y - 2 x  =  1
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